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PART A: Grammar and Vocabulary Yol gus
Dlrf:ctlons: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct 9 Aoxivo G 10 Acx
choice on your answer sheet.

76- What you will be able to do at the end of the course depends on how much time you
spend on doing your assignments, ...?

1) won’t you 2) don’t you
3) doesn’t it 4) won’t it
77-1 think the young man in the blue shirt ... visiting the museum is a tourist from Germany.
1) which is 2) which
3) who is 4) who
78- Although no cure for AIDS ..., doctors are able to help the seriously-ill patients experience less pain.
1) has found 2) has been found
3) have been found 4) have found
79-1 left a message for my friend and asked him to call me as soon as possible, ... my call.
1) but he didn’t return 2) who wasn’t returned
3) and he wasn’t retuned 4) which didn’t return

80-Results from a 2013 study support the idea that loving children ... improves their lifelong health and

wellness.
1) repeatedly 2) immorally
3) unnecessarily 4) unconditionally

81-1 do not know what I’d have done without Mary when I was ill—she is an absolute ... .
1) symbol 2) treasure
3) inspiration 4) instance

82-Because some students tend to ... while texting, it is harder for them to get back in the habit of writing
sentences complete.
1) introduce 2) expand
3) communicate 4) abbreviate

83-To tell the truth, I don’t agree with my mother in this case, but I respect her for sticking to her ... .
1) principles 2) guidelines
3) recommendations 4) collections

84- Yesterday, the police officer gave me directions to the hospital, but they were so ... that I got lost.
1) parposeful 2) comprehensible
3) complicated 4) systematic

85- At first, Salim did not believe in his abilities, and he thought he was a/an ... man who was no different
from anyone else.
1) distinguished 2) ordinary
3) peaceful 4) dedicated

b SUS 1538 0g0)T s 2003
Jlgw OYF / Y7 6 S




u-, 7. .
L VF rdiio (L) 1 yooio ¢ 3 69 326 690 3) W09 3190 (w908 VPeo GO TP Ogosl

86-To help the elderly have a better social life and to prevent their isolation and loneliness, we ... social
events to bring them together.
1) reply 2) arrange
3) regard 4) respect

87-Since caffeine can cause dehydration and other health problems, most physicians agree that the
consumption of foods and drinks ... caffeine should be limited.
1) considering 2) confirming
3) combining 4) containing

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice on your

answer sheet.

A man named Christopher Sholes, the inventor of the typewriter, came up with a keyboard in the 1860s.
Sholes first placed the letters in alphabetical ...(88)... on his typewriter. But he found there was a problem.
The letters were on typebars—also called keys—and some of these keys crashed into one another. This
happened when letters ...(89)... in words, like “s” and “1”, were near each other on the keyboard.

Sholes tried to ...(90)... a way to keep the keys from hitting one another. He made a list of letters ...(91)...
used together in English, like “s” and “1”, or “q” and “u”. He then rearranged these letters so they would be on
opposite sides of the keyboard. This keyboard became known as QWERTY. People have come up with
alternative keyboard patterns, but so far, none has gained much popularity. It does not appear that it ...(92)...

any time soon by a faster, more efficient keyboard.

88- 1) issue 2) order 3) entry 4) origin
89- 1) that often come together 2) that they often come together

3) which comes often together 4) which they together often come
90- 1) figure out 2) stand for 3) look up 4) jump into
91- 1) effectively 2) suddenly 3) accidentally 4) commonly
92- 1) is going to replace 2) has replaced

3) is going to be replaced 4) has been replaced

PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your

answer sheet.

PASSEGE 1:

Last summer, over 12,000 fans were at Wembley Stadium in London, shouting and cheering. Thousands
more were watching online. But this wasn’t a football, basketball or tennis match. It was esports, or
competitive computer gaming. Millions of people in the UK play games for fun. Some of them have become
professional gamers, playing games as their full-time job. It’s not easy to be a professional gamer, though.
They practice for ten or more hours a day, five or six days a week. They do exercises like typing something

and trying to type it faster and faster. They also study videos of other players and plan ways to beat them.
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But are esports really sports? Are players athletes? Some say no. Esports players don’t need to run, jump,
throw or do big physical actions. At the moment, the UK government classifies esports as kinds of games, not
as sports. But others say yes: esports are sports. Players do need some physical skills, especially hand-eye
coordination, reflexes, accuracy and timing. If darts, snooker and shooting are classified as sports, then
perhaps esports should be too. In fact, the governments of China and South Korea do classify esports as
sports, and they will be an official medal sport in the Asian Games starting from 2022.

For many esports fans and players, though, the most important thing is that esports are growing in
popularity and importance. If they are not as prominent as sports at the moment, they absolutely will be in

the near future.

93- Which of the following has been defined in the passage?
1) medal sport (paragraph 2)
2) hand-eye coordination (paragraph 2)
3) full-time job (paragraph 1)
4) esports (paragraph 1)

94-1t can be inferred from paragraph 2 that those who say esports are sports argue that ... .
1) although esports need no physical activity, hand-eye coordination is needed and therefore they should be
considered as sports
2) darts, snooker, and shooting are not sports either because accuracy, timing, and hand-eye coordination is not
very important in them
3) since esports need the same skills as sports like darts or shooting, they should be classified as sports as well
4) because the governments of China and South Korea classify esports as sports, they should be classified as

sports all around the world

95- Which of the following best describes the author’s attitude towards the future of esports?
1) Hopeful 2) Uncertain
3) Worried 4) Amazed

96- The underlined word “prominent” in paragraph 3 is closest in meaning to ... .

1) dangerous 2) confusing
3) fortunate 4) important
PASSEGE 2:

Indeed, one of the most critical branches of oceanography today is known as biological oceanography. It is
the study of the ocean’s plants and animals and their interactions with the marine environment. But
oceanography is not just about study and research. It is also about using that information to help leaders
make smart choices about policies that affect ocean health. Lessons learned through oceanography affect the
ways humans use the sea for transportation, food, energy, water, and much more.

Of course, oceanography covers more than the living organisms in the sea. A branch of oceanography
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called geological oceanography focuses on the formation of the seafloor and how it changes over time.
Geological oceanographers are starting to use special GPS technology to map the seafloor and other
underwater features. This research can provide critical information such as seismic activity. This
information could lead to more accurate earthquake and tsunami prediction.

In addition to biological and geological oceanography, there are two other main branches of sea science.
One is physical oceanography, the study of the relationships between the seafloor, the coastline, and
the atmosphere. The other is chemical oceanography, the study of the chemical composition of seawater and

how it is affected by weather, human activities, and other factors.

97-The passage is primarily concerned with which of the following questions?
1) Why is it that biological oceanography is one of the most critical branches of oceanography today?
2) What are the main differences between biological and geological oceanography?
3) How does oceanography apply chemistry, geology, meteorology, and biology to the study of the ocean?

4) What are the different branches of oceanography and their included subjects?

98- According to the passage, which of the following subjects is studied in geological oceanography?
1) The relationship between the coastline and the atmosphere
2) The way the ocean’s plants and animals influence the marine environment
3) The formation of the seafloor and the way it is influenced by time

4) The study of the ways humans use the oceans for transportation

99-1t can be logically inferred from the passage that ... .
1) the technology used by geological oceanographers has existed for centuries
2) nowadays, the role of oceanographers is not as important as it used to be
3) the information provided by biological oceanographers is totally useless to leaders

4) seismic activity could help scientists predict tsunamis and earthquakes

100- The underlined phrase “the other” in paragraph 3 refers to ... .
1) one of the main branches of sea science
2) the atmosphere
3) physical oceanography

4) the chemical composition of seawater
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